2H|QI2A A T8{0]
=S MdYH/XIE olo]x|

© HEINRICH KIPP WERK GmbH & Co. KG

ol ABQIA oIy

AN e

|>

oY
HiE 49: o )
QlelA ZFM £ 50 &of o3t &2 2lxl2l
BHEE Wxlstof st= 2ol ALSE.
HX EEE FECE FFCIE S
-?—|7'<|E Olsg = US.

2HAlZE Z84 Q1 &2 EIO| CHA| =
7*2 Yx|et7| M= Bt C E= DE

O|83HoF &.

R

AHQIE|A AR T A1

LEA *EI'=' ol 4443 22l 1.4305.

b = s
[=]
Kl-:l.
[=]

sclE, HAZ

#EM O]

AE-||O|E|/\ /\EI |:|.|x-| A1
|_|.A|. AE||:|9|. H.|A-|o=l

. e R v 4 S
[ = =]
b, o |
[= =]

L.I

ANEE|lE A2 = CHYst
|:|H ;O LHAIA—|O| O__l.L
AI‘%OHZ Zd | %I:IL“:I'-

Q
s
= 740
= oT

AL
E4 MA HE.

MM E:
A H0|M & K0665.

e BES Qs 1™ ME K2146.

2 A80| 7tsEL
? AE|QIE|A ARIA4

olal A

A
==

—

www.kipp.com - info@kipp.com

X

1

1/3



—_ —
AH2IRA B ORI0] U= 2H|QIZA QIHIA ERN
=0
D2
e L S
(]
& SW1
- ~d
T
~l| ™M
~
Y L
' V5]
sl —
EZ5 29
FEMHS  Ef EXME 227 HAZEZEFIE ®SZE D D1 D2 L L1L2L3AEZE3 SW1Fx30° AJEF  ERM
2 S EtA S
F1 2 NF2 2E N
K0632.001903 A AE[QIEA A&l 14034 - FZE! 3 M6x0,75 14345125 10 3,5 8 08 4,5 10
K0632.001004 A AH|QIBA AE! 14034 - P 4 M8x1 18 43 15613 4 10 1 6 12
K0632.001105 A AEIQIBA AEl 14034 - PEES 5 M10x1 21 50 17715 5 13 1,3 5 12
K0632.001206 A AE|QIBA AEl 14034 - PEL 6 M12x1,525 59 20817 6 14 1,8 6 14
K0632.001308 A AEIQIHA AEl 14034 - PEL 8 M16x1,5 33 77 261023 8 19 23 15 35
K0632.001410 A AEIQIBA AEl 14034 - PEE 10 M20x1,5 33 83 281225 10 22 28 15 34
K0632.001412 A AHE|QIBA AE 14034 - PEL 12 M20x1,5 33 87 281425 12 22 28 15 39
K0632.001516 A AEIQIHA AEl 14034 - PEE 16 M24x2 40 106 321828 16 27 32 20 46
K0632.111903 A AHEIQIBA AEl 14305 - HIZA8 3 M6x0,75 1434512510 3,5 8 08 45 10
K0632.111004 A AE|QIBA AE 14305 - HZAs 4 M8x1 18 43 15613 4 10 1 6 12
K0632.111105 A AH|QI3A AR 14305 - HIZ38 5 M10x1 21 50 17715 5 13 1,3 5 12
K0632.111206 A AHE|QIE|A AR 1.4305 - HIZAS} 6 M12x1,525 59 208 17 6 14 1,8 6 14
K0632.111308 A AH|QIE|A AR 14305 - HIZA8 8 M16x1,533 77 261023 8 19 23 15 35
K0632.111410 A AH|QIBA AR 14305 - HIZd& 10 M20x1,5 33 83 281225 10 22 28 15 34
K0632.111412 A AH|QlE|A AR 1.4305 - HIZS 12 M20x1,5 33 87 281425 12 22 28 15 39
K0632.111516 A AHIQIEIA ARl 1.4305 - HIZ3 16 M24x2 40 106 321828 16 27 3.2 20 46
K0632.061903 A AH|QIBA A 14404 XFoix 0tF 2| LIZ ZX0|E 3 M6x0,75 1434512510 3,5 8 08 3 6,5
K0632.061004 A AHEIQIEIA AE!l 14404 A9IM 022 LA ZH0/E 4 M8x1 18 43 15613 4 10 1 7 15,5
K0632.061105 A AEIQIEIA ARl 1.4404 RtedM OtR 2| LIZ Z20|E 5 M10x1 21 50 17715 5 13 13 4 12,5
K0632.061206 A AHE|IQIHA AE! 14404 XQ4™ OFFE| L ZH0/E 6 M12x1,525 59 208 17 6 14 1,8 7 14,5
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
= —_ —
A H|QIY|A A Ogl0] = 2H|Q1 A oIHA FEiX
EZS 29
FEHS E} X AME AT HAZY OE =2 E D D1 D2 L L1L2LBAEE3 SW1Fx30° A[E  ERM
| S EE J=
F1 25 NF2 25 N
K0632.061308 A AHIQIEIA AEl 14404 XFoiX OfR 2| LZ Z80]E 8 M16x1,5 33 77 261023 8 19 23 15 35
K0632.061410 A AEIRIBIA AR 1.4404 R4 OtR2| LIZ Z20|E 10 M20x1,5 33 83 281225 10 22 28 15 30
K0632.061412 A AE|QIEIA AR 1.4404 R4 OpR 2| LIZ Z2{0|E 12 M20x1,5 33 87 281425 12 22 28 15 39
K0632.061516 A AHEIQIEIA AE! 14404 XoiX OlF 2| LZ Z20/E 16 M24x2 40 106 321828 16 27 32 20 40
K0632.171903 A AE|IQIBIA ARl 1.4404 RHAX OFFE| AH4X OFF 2l 3 M6x0,75 1434,5125 10 3,5 8 08 3 6,5
K0632.171004 A AHIQIEIA A& 14404 X9iX OtFE| A4 0tFEl 4 M8x1 18 43 156 13 4 10 1 7 15,5
K0632.171105 A AHIQIEA AEl 14404 XiX OlF 2| XAX 0FFEl 5 M10x1 21 50 17715 5 13 1,3 4 12,5
K0632.171206 A AEIQIEIA ARl 1.4404 RtedM OtR 2| AHAXM OFF 2| 6 M12x1,525 59 208 17 6 14 18 7 14,5
K0632.171308 A AEIQIEIA ARl 1.4404 RHAM OtR 2| AH4X OFF 2l 8 M16x1,5 33 77 261023 8 19 23 15 35
K0632.171410 A AHIQIEIA AE! 14404 X1 OFF 2| XHedX 0FF 2| 10 M20x1,5 33 83 281225 10 22 28 15 30
K0632.171412 A AEIIEIA AR 1.4404 Rt OtR 2| 4™ OFF 2 12 M20x1,5 33 87 281425 12 22 28 15 39
K0632.171516 A AH|IQIEIA AR 14404 X1 OtF 2| XHed% OFFE| 16 M24x2 40 106 321828 16 27 32 20 40
K0632.0619031 A AHIQIEA AR 1.4404 EEtAE 2] LIZ Z80|E 3 M6x0,75 1434512510 3,5 8 08 3 6,5
K0632.0610041 A AH|QIEA AR 14404 S2tAR M2 LI Z80/E 4 M8x1 18 43 15613 4 10 1 7 15,5
K0632.0611051 A AH|CIHIA AE! 14404 EEIAR ®2| LIZ Z80|[E 5 M10x1 21 50 17715 5 13 1,3 4 12,5
K0632.0612061 A AHE[QIEA AR 14404 EEtAE” X2 LIZ Z80/E 6 M12x1,525 59 20817 6 14 18 7 14,5
K0632.0613081 A AEIQIHA AE! 14404 E2tAE X2| LIZ ZH0|E 8 M16x1,533 77 261023 8 19 23 15 35
K0632.0614101 A AH[CIHIA AE! 14404 EEIAR %{2| LIZ Z8|0|E 10 M20x1,5 33 83 281225 10 22 28 15 30
K0632.0614121 A AHIQIEA AR 1.4404 EEtAE” 2| LZ Z80/E 12 M20x1,5 33 87 281425 12 22 28 15 39
K0632.0615161 A AH|CIEIA AE! 14404 EEtAR ®2| LIZ Z80|E 16 M24x2 40 106321828 16 27 32 20 40
K0632.1719031 A AH[QIEA AR 14404 EEtAR 2| AHQIA OHR 2| 3 M6x0,75 1434512510 3,5 8 08 3 6,5
K0632.1710041 A AHQITA AR 14404 EEtA” X2 AHAX OFE2l 4 M8x1 18 43 15613 4 10 1 7 15,5
K0632.1711051 A AH|QITA AR 14404 S2tAR M| AAAX OHFE2[ 5 M10x1 21 50 17715 5 13 13 4 12,5
K0632.1712061 A AH[QIEA AR 14404 EBtAR M2 AHOIA OHFEl 6 M12x1,525 59 208 17 6 14 18 7 14,5
K0632.1713081 A AH|QIE|A AR 14404 SEtAR M2 AHIX 0tF 2l 8 M16x1,5 33 77 261023 8 19 23 15 35
K0632.1714101 A AH|QIE|A AR 1.4404 S2tAR X2 AHei% 0FR 210 M20x1,5 33 83 281225 10 22 28 15 30
K0632.1714121 A AH[QIEIA AE! 14404 ECIAR *2| XH24% 0FF 2] 12 M20x1,5 33 87 281425 12 22 28 15 39
K0632.1715161 A AH|QIE|A AR 14404 SEtAR 2| AHQIX OHFE[16 M24x2 40 106 321828 16 27 3,2 20 40
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



